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COMPUTER NETWORI(S

paper : IT 4OB

F]tll Marks : lOO

Tlme : Ttrree hours

The figures ln the mcrrgln lndlcate
Jull marlcs for the questions.

Ansuer any .fiw qttestlons.

l. (a) What are the dtfferences between
classful addresslng and classless
addressilxg ln Ipv4 ? Dcplaln demerlts
of classful addressing with examples.
Brtefly explaln the advantages of IPr6
protocol irx compartson to Ik4 protocol.

3+3+4=lO

Contd.



2.

(b) An ISP is granted a block of addresses
startrng wlth 120.60.4,0/22. The ISp
wants to distrlbute tlese blocks to 4
organizatlons with flrst two
organlzaflons recetving 2OO addresses
each and rest of the two organizations
receivlng 5O addresses each. Design ttre
sub-blocks and give tJ:e slash notation
for each sub-block. Find out how many
addresses are still avallable after these
allocations . lo

(a) Ilst three strategies to move from IPv4
to IPv6. Errplaln the difference between
tunneling and dual stack strategles
durlng transltion period. When is each
strategr used ? 3+4+3=lO

Explatn the working of Link State
Routlng Protocol with one example.
What ls count to innnlty problem ? How
can tt be solved ?

5+3+2=lO

A wlndow holds bytes 2OOl to 5OOO.
Ttre no<t byte to be sent Is 3OOl. Draw
a flgure to show the sltuaUon of the
wlndow after the following two events -

(b)

(o)3.
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b)

(a)

h)

(l) An ACK segment with the
acknowledgement number 25OO
and window size advertisement
4OOO is received.

@ A segment carrying l00O bytes is
sent. 5+5=lO

Give step by step explanatlon of
worklng of Traceroute command.

10

What is Traffic Shaping? Name tuuo

methods to shape tra-ffIc. Explain one
method of tra-ftic shaping.

3+2+5=1O

SMTP, POPS and
electronic mall

10

Drplain the role of
IMAP protocol in
transfer.

5. (a) Explain TCP connection setup and
termination wlth a diagram. What are
tlee merits and demerits of connectlon
oriented communication ? Give
example. 5+5= 1O

h) What ts DNS? What are PQDN and
FODN? How does DNS work?

2+4+4=lO
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(a) What ls ttre funcflon of ARp protocol ?
Explatn wtth a dlagram. lO

(b) Compare static us dynamlc address
asslgnment. How DHCp handles
dynarntc address asslgnment ?

5+5=lO

7. Write short notes on : (ang fu)o)

(o)

h)

(c)

NAT

IITTP

IRr4 header.

lO+lO=2O
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